

1

たしざんをれんしゅうしてみよう。

① $3 + 2 =$

④ $1 + 3 =$

② $2 + 1 =$

⑤ $4 + 1 =$

③ $4 + 1 =$

⑥ $3 + 1 =$

4 ⑥
5 ③5 ⑤
3 ②4 ④
5 ①

こたえ

たしざん5まで
—

1

たしざんをれんしゅうしてみよう。

① $2 + 1 =$

④ $3 + 1 =$

② $4 + 1 =$

⑤ $4 + 1 =$

③ $1 + 4 =$

⑥ $3 + 2 =$



2

たしざん5まで

こたえ

④ 4
① 3⑤ 5
② 5⑥ 5
③ 5

1

たしざんをれんしゅうしてみよう。

① $2 + 2 =$

④ $3 + 1 =$

② $4 + 1 =$

⑤ $1 + 3 =$

③ $1 + 2 =$

⑥ $3 + 1 =$



たしざん5まで

3

こたえ

④ 4
① 4⑤ 4
② 5⑥ 4
③ 3

1

たしざんをれんしゅうしてみよう。

① $2 + 1 =$

④ $1 + 2 =$

② $4 + 1 =$

⑤ $2 + 2 =$

③ $3 + 2 =$

⑥ $1 + 1 =$



たしざん5まで

4

こたえ

④ 1
③ 3⑤ 4
② 5⑥ 2
③ 5

1

たしざんをれんしゅうしてみよう。

① $2 + 3 =$

④ $3 + 1 =$

② $1 + 1 =$

⑤ $3 + 2 =$

③ $4 + 1 =$

⑥ $4 + 1 =$

5 ⑥
5 ③5 ⑤
2 ②4 ④
5 ①

こたえ

5

たしざん5まで



1

たしざんをれんしゅうしてみよう。

① $3 + 2 =$

④ $1 + 4 =$

② $2 + 3 =$

⑤ $2 + 2 =$

③ $4 + 1 =$

⑥ $4 + 1 =$

5 ⑥
5 ③4 ⑤
5 ②5 ④
5 ①

こたえ

6

たしざん5まで



1

たしざんをれんしゅうしてみよう。

① $3 + 1 =$

④ $4 + 1 =$

② $2 + 1 =$

⑤ $2 + 1 =$

③ $1 + 1 =$

⑥ $3 + 2 =$



たしざん5まで

7

こたえ

④ 5
① 4⑤ 3
② 3⑥ 5
③ 2

1

たしざんをれんしゅうしてみよう。

① $4 + 1 =$

④ $3 + 2 =$

② $1 + 3 =$

⑤ $2 + 1 =$

③ $2 + 3 =$

⑥ $1 + 2 =$

⑥ 3
③ 5⑤ 3
② 4④ 5
① 5

こたえ

8

たしざん5まで



1

たしざんをれんしゅうしてみよう。

① $1 + 4 =$

④ $4 + 1 =$

② $3 + 2 =$

⑤ $3 + 1 =$

③ $2 + 1 =$

⑥ $4 + 1 =$

⑥ 5
③ 3⑤ 4
② 5④ 5
① 5

こたえ

9

たしざん5まで



1

たしざんをれんしゅうしてみよう。

① $3 + 1 =$

④ $4 + 1 =$

② $1 + 3 =$

⑤ $1 + 1 =$

③ $2 + 2 =$

⑥ $4 + 1 =$

⑥ 5
③ 4⑤ 2
② 4④ 5
① 4

こたえ

10

たしざん5まで

